PLAIN BOB MINOR
- Bobs and Singles
Up to now, we have rung "plain courses", everything is predetermined from the outset, and we get back to rounds fairly soon.  To extend this pattern to ring for longer, we need to introduce some different steps into the pattern. These different steps are known as "bobs" and "singles".

In Plain Bob minor (and the name is misleading having the Bob in it), we have the standard switching pattern of


X  X  X


I X  X .I


X  X  X


I X  X .I etc .. 
unless you are at a "LEAD END" (i.e. where the treble is leading) in which case you do


I  I  X  X

(instead of

I X  X  I).

Now, if a Bob or a single is called (and it will be called the handstroke before the treble leads), what it means is at the lead end, (i.e. when the treble leads), you do a different pattern, i.e
for a bob:


I X I  X

and for a single


I  I  I  I  X

Look at the Bob first


I X I  X

So, the treble leads 2 blows as normal

- the bell in second place, (which at a normal lead end would make 2nds) instead continues to hunt out. (we call this "running out".)

- the bell in thirds place (which at a normal lead end would step back to 4ths place), continues to hunt in.  (we call this "running in")
- the bell in fourths place makes fourths (we call this "making the bob") and then turns and comes back down to the front.

- the bell in 5ths place dodges as at a normal lead end

- the bell in 6ths place dodges as at a normal lead end.
So, writing out a course, with a bob at the end rather than a plain lead end is:
For 1:2
h
1 2 3 4 5 6 


1 2 3 4 5 6

h
2 1 4 3 6 5


2 4 1 6 3 5

h
4 2 6 1 5 3


4 6 2 5 1 3

h
6 4 5 2 3 1

6 5 4 3 2 1
h
5 6 3 4 1 2

5 3 6 1 4 2
h
3 5 1 6 2 4
BOB called


3 1 5 2 6 4

h
1 3 2 5 4 6
Bob takes

1 2 3 5 6 4
effect

h
2 1 5 3 4 6

2 5 1 4 3 6
h
5 2 4 1 6 3


5 4 2 6 1 3

.. i.e. you are still coursing exactly as if it were plain hunt. 
For 3:4
h
1 2 3 4 5 6 


1 2 3 4 5 6

h
2 1 4 3 6 5


2 4 1 6 3 5

h
4 2 6 1 5 3

4 6 2 5 1 3
h
6 4 5 2 3 1


6 5 4 3 2 1

h
5 6 3 4 1 2


5 3 6 1 4 2

h
3 5 1 6 2 4
BOB called

3 1 5 2 6 4
h
1 3 2 5 4 6
Bob takes 

1 2 3 5 6 4
effect

h
2 1 5 3 4 6


2 5 1 4 3 6

h
5 2 4 1 6 3

5 4 2 6 1 3
i.e. the bob put you into the middle of the 2-3 position



For 5 6:
h
1 2 3 4 5 6 


1 2 3 4 5 6
h
2 1 4 3 6 5

2 4 1 6 3 5
h
4 2 6 1 5 3

4 6 2 5 1 3
h
6 4 5 2 3 1


6 5 4 3 2 1

h
5 6 3 4 1 2


5 3 6 1 4 2

h
3 5 1 6 2 4
BOB called

3 1 5 2 6 4
h
1 3 2 5 4 6
Bob takes 

1 2 3 5 6 4
effect

h
2 1 5 3 4 6

2 5 1 4 3 6
h
5 2 4 1 6 3


5 4 2 6 1 3

i.e. the bob put you into the middle of the 2-3 position


Since a bob can be called at any lead end, it is hard to write out and learn all the possible switches of position.  BETTER, far better, is to do the following steps at the point you hear the bob called.

1) work out where your bells will be at the lead end (e.g. for the 3:4 case on the left, you will be in 2nds and 5ths)

2) work out where your bells go at the bob, (e.g. 2nds goes to 3rds; 5ths goes to 6ths)
3) take your new starting position and work out your next lead from that (e.g. I'm now in 3rds and 6ths,
3rds (odd) means moving to the back); 6ths (even) means moving to the front; that means 4 and 5 .. and oh, that's part of the 23 pattern, so that means 45, 45, 36, 26, 15, 14, 23, 23, 14, 15, 26 at which stage the treble will be leading again and I'll have to think again)
At least, that's how I do it!!

Singles then, can be done in just the same way. I'll write out one example: 

For a single


I  I  I  I  X

So, the treble leads 2 blows as normal

- the bell in second place, (which at a normal lead end would make 2nds) does just that (i.e. is "unaffected").
- the bell in thirds place (which at a normal lead end would step back to 4ths place), makes 3rds and then runs out ( i.e. changing the direction in which it was hunting).  We call this "making the single".

- the bell in fourths place makes fourths (we call this "making the bob") and then turns and comes back down to the front. (This is just the same as at a Bob.)

- the bell in 5ths place dodges as at a normal lead end.

- the bell in 6ths place dodges as at a normal lead end.
So, for example:




For 1:2
h
1 2 3 4 5 6 


1 2 3 4 5 6

h
2 1 4 3 6 5


2 4 1 6 3 5

h
4 2 6 1 5 3


4 6 2 5 1 3

h
6 4 5 2 3 1

6 5 4 3 2 1
h
5 6 3 4 1 2

5 3 6 1 4 2
h
3 5 1 6 2 4
SINGLE called


3 1 5 2 6 4

h
1 3 2 5 4 6
Single takes


1 3 2 5 6 4
effect

h
3 1 5 2 4 6

3 5 1 4 2 6

h
5 3 4 1 6 2

5 4 3 6 1 2
.. i.e. you are coursing but with the treble coming down first




For 3:4
h
1 2 3 4 5 6 


1 2 3 4 5 6

h
2 1 4 3 6 5


2 4 1 6 3 5

h
4 2 6 1 5 3

4 6 2 5 1 3
h
6 4 5 2 3 1


6 5 4 3 2 1

h
5 6 3 4 1 2


5 3 6 1 4 2

h
3 5 1 6 2 4
SINGLE called

3 1 5 2 6 4
h
1 3 2 5 4 6
Single takes 

1 3 2 5 6 4
effect

h
3 1 5 2 4 6


3 5 1 4 2 6

h
5 3 4 1 6 2


5 4 3 6 1 2

i.e. the single puts you into the middle of the 2-3 position



For 5 6:

h
1 2 3 4 5 6 


1 2 3 4 5 6
h
2 1 4 3 6 5

2 4 1 6 3 5
h
4 2 6 1 5 3

4 6 2 5 1 3
h
6 4 5 2 3 1


6 5 4 3 2 1

h
5 6 3 4 1 2


5 3 6 1 4 2

h
3 5 1 6 2 4
SINGLE called

3 1 5 2 6 4
h
1 3 2 5 4 6
Single takes 

1 3 2 5 6 4
effect

h
3 1 5 2 4 6

3 5 1 4 2 6
h
5 3 4 1 6 2


5 4 3 6 1 2

i.e. the single puts you into the middle of the 2-3 position


but again, as for the bobs, there are really too many possible combinations to remember, SO .. just learn:
Lead end


I  I  X  X

(i.e. 2nds makes)

Bob is


I  X  I  X

(i.e. 4ths makes)

Single is


I  I  I  I  X

(i.e. 2nds, 3rds and 4ths make)

and develop the speed of mind to work out

a) where your bells are at the lead end

b) the places the lead end /bob /single puts then into

c) where you go from there.

And then ALWAYS watch for the treble leading.


HINTS:

1) if someone calls a Bob or a single, the treble will lead on the next hand stroke.

2) having done a lead end, a bob or a single, BOTH of your bells have to lead before another lead end, bob or single can be upon you.

3) remember odd goes out, even goes in.

4) learn all your starting pairs, i.e. what do I do if I start with
1-2
switch 1-2, coursing

1-3
2-4, coursing

1-4
2-3, 23 position

1-5
2-6, 23 position

1-6
2-5, symmetric position

2-3
1-4, 23 position

2-4
1-3, coursing

2-5
1-6, symmetric position

2-6
1-5, 23 position

3-4
switch 3-4, symmetric
3-5
4-6, coursing
3-6
4-5, 23 position

4-5
3-6, 23 position
4-6
3-5, coursing

5-6
switch 5-6, coursing
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